¢2000
450 1100 450
=g =
120°
~ ~N

(547 | Avy Iy FEY-IWRVF
#M&%E | KF—OWEB—C2A4(PL)
RaE5 | KRKHO0140% 4

| Higax(112y 152Y)

5% R e ¥8 S

@ KF OWEB—%7B012 90x 40x 450 | BABAUBEAL I v | 21 |FuvIvy FE(RT IBERMR)

@ KF OWB—7 L - L2 t4.5,t6  |SGHC 727, SGH 727| 1 B> & +HHERERE

®| KFOWB—7L-4CYa(v +—N |0-50x30xt1.6] STKM—11A f8% 1 Bino 2 HHEHARE

O) KF OWB—%» 7 7 A4(PL) $76.3x12.8 , 16| STK400 , SGH 727 | 2 B & HHEHRER

®| KF 6175y £y MBX 355US M6x 35 SUS 42

® KF 677 BTM10x 30ASUS M10x 30 SUS 4ty b B,N1,W2,SW1

@] KF 677 BTM10x 60ASUS M10x 60 SUS 2ty b B,N1,W2,SW1

KF 7v#-BTM10x 90 M10x 90 BREDR - & 4ty | BEI7Yh- (BBETAAR)

¥@ER (S=1/40)

11-y FEHEN(S=1/20)

(312 MEfmB)

SGHC 727 t4.5
(L—50% 50)

SGH 727 16

SGHC 727 t4.5
(L-50%50)

E®E (S=1/40)

2=y 1 288 (5=1/20)

(31zy MEMBF)

x(D EOOWSLEET 727y /BEREFERLLIIY-7REEMTT,

x(D~D B (HPown XY THRAECREEATT,

xHBEI-y Mo TOVET L2EMBERE 122y SR VOELEDOTY,

xAOMMRICEARBASL Zy PDRBEHYET,

XEBORLFEET 258, ABTAIL-LYa vt QuUTizy b
EDLEERL TR0,

X BREOY 4 ZIOBHDO0KN /i (EH)0BADEETT,
XTEARO I/ F-TL - M. BFREL T,
¥HEOARIBREOE. FELRKEBT2ERHYET,

\,ﬁ

— R

ROl e—

S

xNE: KT I7AFy 7BERMEA,
O B N -9V BIEER, (W%%‘ftﬁﬁt@f;w)/

450

0000000000000000
MAANANNNANANNNANNI

|
) 2 o
v o
4+ =T - } TTERR o
\\\é%ﬁiﬁ) S
< | <
O
N
O
N
()
Lo
[@N|
(@)
LO

200
300
400

AfTFmE (S=1/10)




